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SHISE8H18H (&)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
BEERXFE 788 |E=X 732.6 2,885 509
_~ 103.9 478 20
>O0F 37.2 446 61
Nt 168.8 1,630 51
HFHS 40.5 300 20
>0OX/)VUl 68.7 2,290 1,470
AP 27.2 3,100 1,021
AXF 347.0 3,239 800
A454 35.3 4,000 1,000
JdEHAN 233.1 140 20
SFIA 40.1 5,400 1,173
TRORD 37.9 1,756 119
JdF 39.9 1,529 180
ESWYXHZ 28.1 700 398
Y= 743.0 3,139 200
finERi#E 55 >T R 30,868.3 990 30
BHE 118 Ry FHA 2,655.9 931 300
astyE 36,207.5




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 788 |ESX 1,594.8 4,000 1,300
ASHLA 30.0 5,000 2,000
<A 31.8 2,700 500
RZF 42.3 3,300 1,000
80 30% ESX 348.0 6,000 1,500
aitaE 2,046.9




